PDF 2022 9 Web

»P.698 »P.754 »P.754 661

PN L Rots 55
7Y 7717." L2108 (5= 1 1012
BxO0—>—P7 ¥ atr—&EUTTHERVERIFED,

BT :mm
L1
T B
‘60/,\/ x4
D g 33
= & =
1T ) & \ll—\
BRI b
e RENE B
N7 27 (SUS2) 118 NACHITR = ikt 84
#9450 B | C IS0 ) 73 ) 1l
AERMHEBA I b (S45C% 72 12SCMA35/ k) 14
JIEY v 7 hE NTUTE = ' T R % (B )
$d1 (2303 ¢d #D B AV b B A% (M)
60032z | 17 35 10 30 25 12 | M4x16 | BC12C-6003 1,850
60047Z | 20 42 12 34 29 13 | M5x16 | BC12C-6004 1,910
. 60052z | 25 a7 12 34 29 13 | M5x16 | BC12C-6005 1,970
62032z | 17 40 12 34 28 13 | M5x16 | BC12C-6203 1,970
620477 | 20 47 14 34 30 13 | M5x16 | BC12C-6204 1,910
620522 | 25 52 15 34 32 13 | M5x16 | BC12C-6205 2,020
6004zZ | 20 42 12 37 29 13 | M5x20 | BC15C-6004 1,970
60052Z | 25 47 12 37 29 13 | M5x20 | BC15C-6005 1,910
. 6006ZZ | 30 55 13 37 30 13 | M5x20 | BC15C-6006 2,020
620477 | 20 47 14 37 30 13 | M5x20 | BC15C-6204 1,970
620527 | 25 52 15 37 32 13 | M5x20 | BC15C-6205 2,020
62067Z | 30 62 16 37 34 13 | M5x20 | BC15C-6206 2,150
60052z | 25 a7 12 42 29 13 | M5x20 | BC20C-6005 2,150
60067Z | 30 55 13 42 30 13 | M5x20 | BC20C-6006 2,150
0 60072z | 35 62 14 42 32 13 | M5x20 | BC20C-6007 2,260
620522 | 25 52 15 42 32 13 | M5x20 | BC20C-6205 2,200
620622 | 30 62 16 42 34 13 | M5x20 | BC20C-6206 2,310
6207722 85 72 17 42 85 13 M5 X 20 BC20C-6207 2,490
60062Z | 30 55 13 47 30 13 | M5x20 | BC25C-6006 2,260
o5 60072Z | 35 62 14 47 32 13 | M5x20 | BC25C-6007 2,380
620622 | 30 62 16 47 34 13 | M5x20 | BC25C-6206 2,430
62072z | 35 72 17 47 35 13 | M5x20 | BC25C-6207 2,610

4
’

iwata



